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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2600  —@— ECI

2500

2400

2300 -

2200 A
"] is missing
2100 A




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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09:45 180 50. 0 BE| 1Ri%e09:45 Fx) (KRFERSE)
11:05 180 50.0 | RE| 1{Ri&e11:05 Fz (RAHEESE)
12:25 180 50. 0 BS| 1Rige12:25 Fzh (GREERESE)
13:40 180 50.0 | RE| {RiB@13:40 Fzh CGREAHEESR)
15:00 180 50.0 (=] {Ri&e15:00 FzI (RAHEESE)
24it[1080.0 (6:%) 300.0 FUGHKEC: 1900.0, PH: 6.0

TERRHEBR 2 STEEART (117.0 :

PRIASLPRIERE74.0 ml.

large discrepency for begining water status (18:162.0), set to 47.0 ml.

74.0), AIREHT—I@% XAH45
LRGEREC (180) 57HA (122. 0) FF, FIREHI T & REEIRS £ XER

BEXRIEMIEC (2535.0) 5iZXEEC (2000.0) wEFK K, BHEE
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08:00 180 50.0 5| {BRiZ@08:00 Fz (FRPMERE)
10:00 180 50. 0 S| 1Ri&e10:00 F3h (REERESE)
11:25 180 50. 0 S| Ri&e11:25 Fzi (REERSE)
12:50 180 50.0 B {BRige12:50 Fz (RPERKSE)
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15:25 180 50.0 BE| Rige15:25 Fz (REAEHE)
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